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Sudoku
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Data Representation Depth First Search Process
e Extension of permutation generation: 61

e Two dimensional integer array: int board[9][9];
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initialized with 0's and fixed constraints more constraints on the set of numbers |

to be filled in each cell
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Satisfying Constraints

Mathdoku

e 4x4, 6x6, 8x8, ..., nxn
E h cell e The values in each cell are from the set {1, 2, ..., n}
¢ or eachce _ _ e No repetition is allowed in each row and each column
e No two cells are assigned the same value in each row e In addition, the values in each non-regular subblocks should
for (i=0- i<9- i++ satisfy the labeled arithmetic constraints, e.qg.
or (1I=0; I<9; i++4) _ 13+ is satisfied by 2+5+6=13, 1-is satisfied by 4-3=1,
if (value == board[i][icol]) return 0; 36+ is satisfied by 6*6*1=36, and 3/ is satisfied by 6/2=3
e No two cells are assigned the same value in each column
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